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QUESTION 1

Which two are true about using the ACCESSIBLE BY clause? (Choose two.)
A. It can be used in the declaration of object types.

B. It must be specified in the heading of a package specification.

C. The check is enforced by this clause for direct access and access through dynamic SQL.

D. It can be used for individual procedures and functions declared in a package specification.

E. It must be specified in the heading of a package body.
Correct Answer: AD

https://docs.oracle.com/database/122/LNPLS/ACCESSIBLE-BY-clause.htm

QUESTION 2

Which three are true about DDL triggers? (Choose three.)

A. They cannot include the WHEN clause.

B. They must be created in an enabled state.

C. They can be fired when a table is truncated.

D. They fire only when a DDL statement is executed by the owner of the trigger.
E. They can be fired either before or after a DDL statement executes.

F. They can be fired when a privilege is granted to a user.

G. They must be created in a disabled state.

Correct Answer: CDE

QUESTION 3

Examine this DECLARE section:
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1 DECLARE

2 salary$ VARCHAR2(10) NOT NULL := '900GS‘';
3 v_numl, v_num2 NUMBER;

4 VARCHAR2 (20) v_job;

5 avg INTEGER:

6 total SIMPLE_ INTEGER;

/ #sno NUMBER:

Which two lines are valid? (Choose two.)
A.line 5

B. line 6

C.line7

D.line4E.line 3

F.line 2

Correct Answer: AF

QUESTION 4

Which two statements are true about the RETURNING clause when used with DML? (Choose two.)

A. When using the RETURNING INTO clause, the data returned can be only single column or expression.
B. The RETURNING INTO clause and bulk binds may not be used together.

C. The RETURNING INTO clause can be used with DML that affects multiple rows, if the BULK COLLECT clause is
used.

D. The RETURNING INTO clause returns column values for rows affected by DML statements.
E. The RETURNING clause can be used for remote or parallel deletes.

Correct Answer: CE

QUESTION 5

Examine these statements from a block of code: Which two are true? (Choose two.)
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CURSOR c¢i1 IS
SELECT * FROM products
FOR UPDATE OF price;

UPDATE products
SET price = price * 1.05
WHERE CURRENT OF c1;

A. The lock acquired when executing the OPEN c1 command will be released only after a COMMIT or ROLLBACK
statement is issued.

B. Only the PRICE column can be updated in the PRODUCTS table.

C. The FOR UPDATE OF clause can be used only if the WHERE CURRENT OF clause is used in the executable part
of the block.

D. The WHERE CURRENT OF clause can be used only if the FOR UPDATE clause is used in the cursor definition.
E. An OPEN c1 command will acquire a lock only on the PRICE column in the PRODUCTS table.

Correct Answer: AD
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